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Solution:

2
Base Z {22) = 0.968 O

X = 11x0968 = 1.065 Q
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Solution:
(a) With turns ratio a = 1.2 x 10°/120 = 10,

Ry = ri+a’rg = 0.84+100x001 Q = 18 O

X, = zy+a’z9 = 12+100x001 Q = 22 Q
.J_,;Jj:..iﬂ'»ﬁ quqduﬁti;a LgmaaS S5 50001 (O)
Ry, £ Ry/a? = 1.8/100 Q = 0.018 Q
X, £ X,/e* = 22/100 Q = 0.022 O
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c) e °
z = (1.8+j22) Q
7200 2
e = 18/Vo /=8 = 120 (=362 A = 60,-36.9° A
I
e, = 2:"“ = 6.0,-36.9° A
GVQ,FL = 1200 V
Vire = aVorL+ 1y L2,

Vo rL|
[Va x|

% Regulation

= 1200+ 6.0,-36.9° (1.8 +2.2) V = 1216.57,019° V
= 120V
VirL/a = 121.66 V

= (121.66 —120)/120 = 138 %



